
1 単一化の課題

P (f(x), x, g(x)) と P (y, a, z) を単一化せよ．

• P1 = P (f(x), x, g(x)), P2 = P (y, a, z), S =

• 不一致集合 D = {(f(x), y), (x, a), (g(x), z)}
(f(x), y)を一致させる
s1 = (f(x)/y)より，P1 = P1|s1 = P (f(x), x, g(x)), P2 = P2|s1 = P (f(x), a, z)
S = s1

• 不一致集合 D = {(x, a), (g(x), z)}
(x, a)を一致させる
s2 = (a/x)より，P1 = P1|s2 = P (f(a), a, g(a))，P2 = P2|s2 = P (f(a), a, z)
S = s1s2

• 不一致集合 D = {(g(a), z)}
(g(a), z)を一致させる
s3 = (g(a)/z)より，P1 = P1|s3 = P (f(a), a, g(a))，P2 = P2|s3 = P (f(a), a, g(a))
S = s1s2s3

• したがって，単一化置換は，S = (f(x)/y)(a/x)(g(a)/z)
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